
S/B.Tech/BT/Od

~TS-2002l2015

II Vedanta as preached

Ire was awarded t·
works.

iucation.-
(1+3)+8 = l'

ian Philosophy?

3S World Yoga Da
ied the importan
participated in thO
of this philosoph

6+6 = 11

veyed by him in the Vv
icago? 6+6 .•at

..•, Candidates are required to answer Group A and
~gral part of all SOCieti I!1Y 5 (five) from Group B to E, taking at least one from each group.

the concept of virt '"Ue csndldatesare required to give answer in their own words as far as practicable.

Group -A
iious text. Write a sh(l (Multiple Choice Type Questions)
teachings of Gita for· 1. Choosethe correct alternatives for the following:

6+6 = 1; (i) Alpha helix is broken by
(a) Valine (b) Phenyl alanine
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(c) Proline (d) Isoleucine.

(ii) The following sugar is NOT a disacccahride
(a) sucrose (b) lactose (c) maltose (d) rib os.

(iii) Example of a saturated fatty acid is
(a) Palmitic acid
(c) Palmitoleic acid

(b) Oleic acid
(d) Linoleic acid.

(iv) If a species contains 23% adenine in its DNA,then the percentage of guanine in it's
DNAwould be

(a) 23 % (b) 46 % (c) 27 % (d) 54 %.

(v)Assign the correct term describing the relationship to the following two isomers

H~-t:H :±~:
H=i=OH H=i=OH

CH20H CH20H
(a) enantiomers (b) diastereomers (c) mesomers (d) isomers.

(Vi)The set that includes components of weak interaction is
(a) Vander Waals force, ion-ion interaction, ion-dipole interaction
(b) Peptide bonds, hydrophobic interaction, ion-ion interaction
(c) Peptide bond, disulfide bind, hydrogen bonds
(d) Disulfide bond, hydrophobic interaction, ion-ion interaction.

(Vii) HYdrophobic amino acid residues are likely to be found
(a) in the interior of a protein (b) on the surface of a protein

Ie) (e) both in the interior and on the surface (d) difficult to predict.
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(viii) The mi .icroscopic technique applied t(a) Scanning electron microsco 0 analyze topographical changes'
(b) Tr ., py IS

ansrmssion electron micro
(c) Pha . scopy
(d) F1 "contra" microscopy J1"'''' and explain the titration CU,",,' of GlutamiC acid.

uorescence microscopy. (~)(ix) A BSA t k .. !b' pKL p](, and pK. valu" of Ly,in e are 2018, 8.9S and 10.79 ,,'p,ctiv,ly. What Is

.s oc solution IS diluted 10 fold . (b) ?
the solution in a quartz cuvett f s With phosphate buffer. The ab itS pl.
extinction coeffi . e 0 path length 1 mm t 280 . Sprot . ld icient of the protein is 0.66 ml/ a nm IS 0.3 ) ""scribe the structure of an alpha helix with a figure.

em wou be: . mg.cm, concentration of (C I/Y(a) 5 mg/rnl d) What do you mean by denaturation of a protein?

(c) 33 rng/rnl (b) 20 mg/rnl (
(d) 50 mg/rnl.

(x)The absorption of infrared light by a m I I' ,(.) Wh3t;,; ,up,rcoiling of DNA? How many base pai'" per turn would there be in the
(a) magnetic field 0 ecuie results m transition to high,,' DNA ~ the DNA was not able to adopt any ,up,rcoil ,tructu" for this length of DNA

(c) emission (b) electron 'pin with a linkag' numb" of 490?
(d) vibration.

4+ 2 + 4+ 2 = 12

(b] oerive the ,quation for "natucation kin,ti'" of a "DNA mol,eul" into dsDNA.

Group - B

2.(a) Name the major weak' t . .. III eracnons thImportance with respect to biomolec I at occur within a biomolecule. Disu ar structure.

(b) Derive Henderson equati on.

(e) ExPlain why DNAis resistant to alkali hydrolysis but RNAis not

(d)Determine the melting point of DNA.which has a total % (G+C) content value 35.4+4+2+2 = 12

3 a . (2+6) Group - E

.() Descnbe the structure f •chemical "action? Write the bs starch mol ecul e. How starch can be id <Ia,a) Derive the math,maticalform of Lamb,rt & Bears law. What a" Its Iimimtions?

asic structural difference between starch and J
(b) Explain why enzymatic d t . (b) Describe the basic steps of c""talli,.tio

n
of pcorein,.

chemical method e ection of blood glucose level I'S m .A. ore accUl'
(e)Describe principle of phosphorescence and luminescence in estimation of

biomolecules with example. (4+1) + 3 + 4= 12

(4+2+2)1

(4+4) + (2+2) = 12
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